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State the main nitrogenous waste product of the organism in photograph E.

(1 mark)
Give a reason for your answer in a(i) above. (1 mark)
PP SRR R

s the organism in photograph E is usually found on top of rock surfaces even
(1 mark)
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omass if both were left in
(1 mark)

’-to observable features, explain why the organism in photograph F is
und in a wider range of habitats. (3 marks)
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ic make-up of a man was found to be XXY.
'ﬁ@ame the syndrome the individual could be suffering from. (1 mark)
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ain how the syndrome occurs. (4 marks)
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(3 marks)
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SECTION B (40 marks)

(compu isory) and either question 7 or 8 in the spaces provided afier question 8.

shWS the average number of ticks per animal in a certain farm before and after

als with a certain chemical. The spraying was done once every month. The
d as shown below,

*s’) , ERRRE S s g 10 | 12 | 14
number of ticks | 200 | 90 | 40 | 20 | 16 | 25 | 45 | 90
Ot a graph of number of ticks against time. (6 marks)
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(3 marks)
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From the graph, determine the average number of ticks after spraying the animals for
five months. (1 mark)
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..............................................................................................................

N Pfthe animals were allowed to graze in an open field, construct a food chain with five
oreanisms in which ticks are secondary consumers. (4 marks)
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number of ticks per animal could have been
(3 marks)

Scanned with CamScanner




(3 marks)

ction. (17 marks)

factors affect the rate of photosynthesis.
(15 marks)
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